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CHSL EXAM

Combined Higher Secondary Level
(10+2) Examination

SSC CHSL (Tier - 1) Online Exam Paper - 2017 " held on 19
March 2018"

Morning Shift (Reasoning)

QID: 1-Inthefollowing question, select therelated word pair from the given alter natives.
Road : Asphalt:: ?:?

Options:

1) Sugarcane : Sugar

2) Cloth : Shirt

3) Pen : Pencil

4) Metal : Ore

Correct Answer: Metal : Ore

QID : 2-Inthefollowing question, select therelated number from the given alternatives.
697:976::532: 7

Options:

1) 320

2) 354

3) 237
4) 325
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Correct Answer: 325

QID : 3-Inthefollowing question, select therelated letter/lettersfrom the given alter natives.
RTU: SUW :: CEF:?

Options:

1) FGI

2) DGH

3) EGF

4) DFH

Correct Answer: DFH

QID : 4-1Inthefollowing question, select the odd word pair from the given alternatives.
Options:

1) Oxygen — Gas

2) Metal — Platinum

3) Liquid — Water

4) Solid - Iron

Correct Answer: Oxygen — Gas

QID : 5-Inthefollowing question, four number pairsaregiven. The number on left sideof (-) is
related to the number on theright side of (=) with some L ogic/Rule/Relation. Three are similar on
basis of same L ogic/Rule/Relation. Select the odd one out from the

Options:

1) 27-32

2)31-36

3)33-38

4) 23-27

Correct Answer: 23 - 27

QID: 6-Inthefollowing question, select the odd letter/lettersfrom the given alter natives.
Options:

1) SPMJ

2) XURO

3) NKHE

4) ZWSP

Correct Answer: ZWSP

Downl oaded From : http://sscportal.in COURTESY : SSC


https://sscportal.in
https://sscportal.in

Downl oaded From: http://sscportal.in

QID : 7- Arrangethe given wordsin the sequence in which they occur in thedictionary.

1. Tinned

2. Timber

3. Tinkle

4, Thunderstorm
5. Thursday

Options:

1) 53214

2) 21345

3) 45231

4) 12435

Correct Answer: 45231
QID : 8-Inthefollowing question, select the missing number from the given series.
17, 20, 23, 26, 29, ?
Options:

1) 31

2) 34

3) 30

4) 32

Correct Answer: 32

QID : 9- A seriesisgiven with one term missing. Select the correct alter native from the given ones
that will completethe series.

FT,JX,NB, RF,?

Options:

1) TX

2)LJ

3)VJ

4HYJ

Correct Answer: VJ

QID : 10 - Present age of Amit istwice of Baman’s present age. After 5 years Baman’s age will be
4 times of the Chetan’s present age. If Chetan celebrated his sixth birthday 7 years ago, then what
will bethe present age (in years) of Amit?

Options:
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1) 98

2) 110

3) 94

4) 92

Correct Answer: 94

QID : 11 - From the given alter natives, select the word which CANNOT beformed using the
letters of the given word.

Compassionate
Options:

1) Pass

2) Moss

3) Passion

4) Comply

Correct Answer: Comply

QID: 12 - In acertain code language, “RAPID” iswritten as“GL SDU”. How is “WATER”
written in that code language?

Options:

1) DZHKM

2) UHWDZ

3) VHKDZ

4) MKHDZ

Correct Answer: UHWDZ

QID : 13- Inacertain code language, '-' represents'x’, '+' represents'+', '+' represents'+' and 'x'
represents’-'. Find out the answer to the following question.

18+12-5+30x6="?
Options:

1) 19

2) 15

3) 41

4) 14

Correct Answer: 14

QID : 14 - Thefollowing equation isincorrect. Which two signs should beinterchanged to correct
the equation?
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20+14+35-10x12=10
Options:

1) + and x

2)+and +

3)-and+

4) + and X

Correct Answer: + and X
QID : 15- If 16#2 = 16, 12#6 = 36 and 6#1 = 3, then find the value of 4#4 = ?
Options:

12

2) 4

3) 10

4)8

Correct Answer: 8

QID : 16 - Which of the following termsfollowsthetrend of the given list?

ABCABABAB, ABABCABAB, ABABABCAB, ABABABABC, ACBABABAB,

Options:

1) ABABCABAB
2) ABCABABAB
3) ABACBABAB
4) ABABACBAB

Correct Answer: ABACBABAB

QID : 17 - A village woman walks 2.5 km South starting from her home in sear ch of water. She
then turnsWest and walks 1.5 km, then she turns South and walks 0.5 km, then she turnsto her
left and walks 1.5 km. Whereis she now with respect to her home?

Options:

1) 2 km South

2) 3km North

3) 3 km South

4) 2 km North

Correct Answer: 3 km South

QID: 18- In the question two statements ar e given, followed by two conclusions, | and I1. You
have to consider the statementsto betrue even if it ssemsto be at variance from commonly known
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facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement |: All tickets are coupons
Statement I1: All cards are tickets

Conclusion I: Some coupons are cards
Conclusion |1: Some cards are coupons

Options:

1) Only conclusion | follows

2) Only conclusion |1 follows

3) Both conclusions | and 11 follow

4) Neither conclusion | nor conclusion Il follows

Correct Answer: Both conclusions!| and Il follow

QID: 19-

In the following figure, rectangle represents Opticians, circle
represents Illustrators, triangle represents Photographers and
square represents Football players. Which set of letters represents
Football players who are both Photographers as well as Opticians?

frffoies ¥@f A, yua iteRuw & wffs & ¢
T 3o A el e 8, P wdme s e &
3 7 Pedla TUesdt # VeRid & ¢l 3R & A 9 W
54 Fediol fRefsal & e v ¢, ot W R iRy

A 87
- c[ Bl a
G D/
</ el
F
|

Options:
1D
2) ED
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3) DF
4) EDF

Correct Answer: D

QID: 20 - A seriesisgiven with oneterm missing. Select the correct alternative from the given
onesthat will complete the series.

KHQ, HEN, EBK, ?, YVE

Options:

1) ZWF

2) AXG

3) CZI

4) BYH

Correct Answer: BYH

QID : 21 - In thefollowing question, select the missing number from the given series.

6,9, 13,18, 24,7

Options:

1) 31

2) 34

3) 29

4) 28

Correct Answer: 31

QID : 22 - In thefollowing question, four groups of three numbersare given. In each group the
second and third number arerelated to the first number by a Logic/Rule/Relation. Threeare
similar on basis of same L ogic/Rule/Relation. Select the odd one out from the given alter natives.
Options:

1) (5, 16, 22)

2) (6, 19, 25)

3) (4,13, 17)

4) (9, 28, 37)

Correct Answer: (5, 16, 22)

QID: 23-
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If a mirror is placed on the line MN, then
which of the answer figures is the right
image of the given figure?

afg v gdor S MN @1 9 @M ST ar &
T FeeR AHIAAT # H HloT-Ar IR woeT
TP & Fel Tiafars gram?

Options:

1)

D

2)

<

3)
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4)

<

Correct Answer:

<

QID: 24-
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Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

fFfaf@d 3w 3mefd & @ Fia @ e for
MT T IFfA 7 A Gl g F AT AL

ST Gehl?
O
-H| O]
&
Options:
1)
.y

2)

&
*O

3)
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4)

O

@

9%

Correct Answer:

_7gi_

=)

%

QID: 25-
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A word is represented by only one set of numbers as given in any one of the alternatives. The sets of
numbers given in the alternatives are represented by two classes of alphabets as shown in the given
two matrices. The columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-|| are
numbered from 5 to 8, A letter from these matrices can be represented first by its row and next by
its column, for example 'D' can be represented by 24, 41 etc and 'Y' can be represented by 57, 98 etc.
Similarty, you have to identify the set for the word 'BREW'.

T e Fad U FEO-HHg @ e g, o & Reedt A 4 e ww A
fear @1 et & Row v sy et & @ @ @ @i aw §, o
& for v o gt @ Bl e & e R e & wew 0 4 R
Weggll #1 5 ¥ 9 71 5 Feggl § U WW H G g 9 K aw A
TR HE AW g S BEA g FeenwT & fav D & 24, 41 3l qEw
g A EAT ¢ AW Y @ 57, 98 g g@w g W wHAv ¢l 5 A
& oy & U 9ee BREW & MU §op & 0w g

Matrix | Matrix I
HTE -1 HTE -1l
[N 0 I z 3 4 5 & 7 8 9
1] C i H G A 5 u W ¥ X W
1 G i H ¥ C & Z u N T §
2 F C H E D 7 v (8] u 1] P
] M B A L E & R 0 W X (8]
4 E B K B G 9 v a 5 ¥ L
Options:
1) 34,68,44,95
2) 43,78,23,59
3) 30,66,42,96
4) 23,68,22,66

Correct Answer: 43,78,23,59
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